(2x)DIN 125 @8
(2x)DIN M8

3x) DI N 963 M6x16
2x) DI N 963 M6x40

(2x) DI N 9021A @8
(2x) DI N 933 MBx25
(5x)DIN 125 @6
(5x)DIN 934 M6

(2x) DIN 963 MBx40

09.93903.000
2300GL (NO)

70203.0
DI N933 MBX10 (8X)

28002. 0 (5X)
DI N934 N6 (8X)

40903. 0

60002. 0
56009. 0
(2x) 16920

(2x) DI N 933 M6X30
(2x) DI N 933 M6X30
(2x)DIN 125 @6

_(2x)DIN 125 @6 _

37613.0 - —_ -

—

\ - -
(2x) DI N 7981B 4. 2x13 \//

(5x) DI N 7516D M6x10 -

DIN 7516D Mbx12 (4x)

56107.0
37321.0

7, \

(2x)DIN 934 V&
(2x)DIN 125 @6
(2x)DIN 934 M6

76108.0 ~ -

77362.0 < o
77363.0 -
DIN 1472 26x24 - | \‘
15484.0 44\\\\\\\\\\\7 02411.0 ‘
M26408. 0 \/ DIN 125 28 (6x)DIN 125 28 (3017411
M26405. 0 4\\\\\\\\\\¢g
(2x) 26049. 0 \ DIN 934 M8~ ‘
\ e ( DIN 7991 MBx40 (2x) 26049.0
S | 77363.0 | VB6405. 0
15485. 0 % / DIN 7991 MBx40 — | I , a0 o1 953 1exs \eei0s. o
M26408. 0 2 79529. 0 44’#’#’#’#’#>:;1J (0 125 g5~ .
—
(3x) 17411 j?k‘:ﬁ\q &4\ 37612.0 — — = = ) o
a0t 1 — " 093 o 75558.9///
33019.1 09321. 0 - . k
| 58610. 1

(2x) DI N MBx40
(2x)DIN 125 28
77014.0

37610.0

64226.0
(2x)DIN 1434 26x20
(2x)58202. 0

15487.0

(2x) DI N 1434 @6x20
(2x)DI N 912 M6X10

26101.0 58610. 1
(4x)DIN 7516D Mbx10 15486. 0
DIN 125 g8 DIN 966 Mox20 09401. 0 M26405. 0
DIN 980 M8 (2) DI N 933 MBx12 (4%)DIN 965 NBX10 64226.0 M26408. 0
DIN 912 MBX10 65406. 0 (3x)DIN 125 28 DIN 125 28 33019. 1
2x)58202. 1
37929.0 (3x)DIN 439 M8 (
(3x) DI N 933 MBX50 (3x)DIN 934 18 26101.0
03515.0 (3x) DI N 9021A @8 (4x)DIN 7516D M6x10
(2x) DI N MBx16 (3x) DIN 9021A 28 DIN 980 M8

(3x) DI N 933 MBx30

S63101.0 \.ﬁ

(3x)52201. 0

(3x) 28831. 0
(3x)DIN 125 @8
(3x)DIN 934 M8
(3x) DI N 933 MLOX75
(3x) 76306. 0

(3x) DI N 7516D Mix10

| 09/10/00



Rygg peis

Mantering av steinsett til

4 Dovre 2300 CB.
y E’s Sett fgrst inn stein 1, 2 og 3. deretter
| 5"“?‘% plasseres stein 4 og 5.
§ - i-;._
9

Dgr peis A“; éﬁ}\




